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4. / 7! A general design rule for microwave links 1s 55% clearance of the first Fresnel
zone. For a 1 km link at 2.5 GHz, what is the maximurm first Fresnel zone
radius? What clearance is required for this system ?

Solution
c 3x 108
A= FT o s 0lm (23)

For the first Fresnel zone: n=1. The maximum Fresnel zone radius oceurs for dy =
dy = 500m, Using Equation {4.56), the Fresnel zone radius is found ta be

‘nddidy {1 x 0.12 x 500 x 500

“Vai+a ¥ 500 + 500 =548 m (24)

n

Thus, 55% first Fresnel zone ¢learance would require at least 5.48 x 55% = 3.0lm
above the obstruction to the LOS path as shown inthe figure below.
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